H £ 0l & AF & S

Al A

A AFY
A XBIsE TADHY Met RR([ELRGNL/XALCAL)

SRl AN Sk Sat (SH9 H2)
SN - B SRA(BH) - HPAY - BES 0 & ol 8 o tmE==T
= 10,329,576 9,634,981 694,595

= 5,461,222 5,458,822 2,400

< 447,919 445,106 2,813

Al 4,420,435 3,731,053 689,382

NEMse TADNE det 2FH(RELXNGNL/XAL Al 963,793 923,380 40,413

< 413 0 413

Al 963,380 923,380 40,000

ARIEH SX=E at 508,823 498,410 10,413

[ 413 0 413

Al 508,410 498,410 10,000

ST X2 A 445,290 435,290 10,000

307 2Ito1d 111,900 101,900 10,000

02 2B YA HE X 111,000 101,000 10,000
OZPYUUOIIE SSEINZE XY

41,000,000 41,000 31,000 10,000

SHETISH OIME! 218 FHXIH 413 0 413

< 413 0 413

302 OI=LMHHEA S 413 0 413

< 413 0 413

02 2t s HESEa=3 413 0 413

oY== gtz X2 413,000 413 0 413

[ 413 0 413

OIS0 ZAIBtSD| 121,580 91,580 30,000

22| 202 FH| 59,080 29,080 30,000

405 THHE S| 30,000 0 30,000

01 Tt =S F=HI 30,000 0 30,000

O=seZns o4& 7

30,000,000 30,000 0 30,000

FEIAIE OHE & =S S (ARISR/DIZNEEH) 6,249,082 6,244,282 4,800

= 5,461,222 5,458,822 2,400

< 447,506 445,106 2,400

Al 340,34 340,354 0

FEHHUX S 6,249,082 6,244,282 4,800

= 5,461,222 5,458,822 2,400

[ 447,506 445,106 2,400

Al 340,354 340,354 0

BIZ&HM H=X OlAHl XI& 4,800 0 4,800

= 2,400 0 2,400

< 2,400 0 2,400

301 LEEEZ 4,800 0 4,800

= 2,400 0 2,400

[ 2,400 0 2,400




FA A=
S FEAY 8 & FHSX S (MASA/IIZEE2Y)
el FEEHAA (SH9 H2)
SN - BE - SRA(SIH) - NIRAY - B2 0] a0t ol & o HimEE]
01 ABIEF XS (SL2ETE) 4,800 0 4,800
OBIZYAHXN A=Xt OIAH] XI&
4,800,000 4,800 0 4,800
= 2,400 0 2,400
< 2,400 0 2,400
CAZENE(WEAEF/E2) 3,085,481 2,436,481 649,000
Ot B2 I & HIIAE= 2 3,085,481 2,436,481 649,000
SIINE=E =2l 1,426,481 1,386,481 40,000
401 AlZHIL 2 0HY] 800,000 760,000 40,000
01 Al 800,000 760,000 40,000
OES AEBA 2,000,000 %404 2 80,000 40,000 40,000
=UEEZ Jt2E &R 1,659,000 1,050,000 609,000
401 AlZHIL 2 CHY] 1,659,000 1,050,000 609,000
01 AlZHI 1,659,000 1,050,000 609,000
OSEOHUE~FSAXOHUE ==SOI2S 1
HIS At 7,000,000 %2001 2 140,000 0 140,000
ORY X~RHeEHX =225 DHIA
7,000,000 %2004 2 140,000 0 140,000
OEAZ~MOFSAAE] =22 S WHISA
7,000,000 %2004 2 140,000 0 140,000
ORNIOICIE~2EZH =SIES WHMSA
7,000,0002* 1574 A 105,000 0 105,000
OX2Z 6422 =2IH2S WHSA
7,000,000 * 1294 2 84,000 0 84,000
WLES(AZH(RELXAMNL/XALCAI) 382 0 382
L=FSONE 382 0 382
=EHlgEs 382 0 382
802 Bret=IIEr 382 0 382
01 =nEx3eEs 254 0 254
O202E s0IE NS JHZAIY Hd
o4 & OIA 253,320 254 0 254
02 Al - SHIE XSS 128 0 128
Oz BAEE =67 FHSH S
o4 2 OIR 51,8202 52 0 52
O202E sOE ZOHQIFE ALY T
o4 & OIR 75,990 76 0 76




